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UNIVERSITY OF NORTH BENGAL 

B.Sc. Programme 2nd Semester Examination, 2022  

DSC1/2/3-P2-BOTANY 

PLANT ECOLOGY AND TAXONOMY 
Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 
All symbols are of usual significance. 

 GROUP-A / িবভাগ-ক / [k.M-d 

1. Answer any five questions from the following: 1×5 = 5
 িনmিলিখত �য-�কান পাঁচিট  pেűর উtর দাওঃ 

 fuEufyf[kr dquS ik¡poVk iz”ug:dk mÙkj ys[k%

(a) Write the full form of ICBN and ICN.
 ICBN এবং ICN-এর পুেরা নাম �লখ। 

 ICBN vfu ICN dks iwjk ukeg: ys[kA 

(b) What is the standard size of herbarium sheet?
 হােব�িরয়াম-এর pমাণ সাইজ �লখ। 

 gcsZfj;e lhV (herbarium sheet) dks ekud eki (standard size) dfr gks \ 

(c) What is ecotone? 
 ইেকাটন (Ecotone) কী ? 

 (Ecotone) bdksVksu ds gks \ 

(d) What is food web?

 খাদয্-জাল (Food Web)-এর সংjা দাও। 

 [kk|-tky Hkusdks ds gks \ 

(e) In which family ‘capitulum’ inflorescence is found?

 �কান ্   �গােt কয্ািপcলাম (Capitulum)-পুźিবন য্াস �দখেত পাওয়া যায়? 
 D;kfiVÓwye (Capitulum) iq’iØe (inflorescence) dqu tkfrek ikbUN \ 

(f) Name one economically important plant from the family Lamiaceae.

 লয্ািমেয়সী-�গােtর একিট অথ�ৈনিতক grtসmn উিdেদর নাম �লখ। 

 Y;kfe;slh (Lamiaceae) tkfrdks dquS ,d ykHknk;d mfön~dks uke ys[kA 
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(g) Mention two adaptations of hydrophytes.
 জলজ উিdদ (Hydrophytes)-এর dিট অিভেযাজনগত �বিশŶয্ উেlখ কর। 

 tyksfön (Hydrophytes) dks dquS nqbZoVk vuqdwyu (adaptations) dks ckjsek ys[kA 

(h) What is mangrove? Give one example.
 ময্ানেgাভ কী ? একিট উদাহরণ দাও। 

 E;kuxzksHk (mangrove) ds gks \ ,mVk mnkgj.k ys[kA

  
 GROUP-B / িবভাগ-খ / [k.M-[k 

2. Answer any three of the following: 5×3 = 15
 িনmিলিখত �য-�কান িতনিট  pেűর উtর দাওঃ 

 fuEufyf[kr dquS rhuoVk iz”ug:dk mÙkj ys[k% 

(a) What is binomial system of Nomenclature? What is the need of author citation?   3+2=5
 িdপদ নামকরণ বলেত কী �বাঝ ? ‘Author Citation’-এর pেয়াজনীয়তা কী ? 

 ukeadj.k (Nomenclature) dks f}in iz.kkyh (binomial system) ds gks \ jpf;rk 
m)j.k (author citation) dks vko”;drk fdu gqUN \ 

(b) Discuss the advance characters of the family “Asteraceae”. 5

 অয্ােsেরসী (Asteraceae)-�গােtর উnততর �বিশŶয্ আেলাচনা কর। 

 *,LVjslh* (Asteraceae) tkfrdks mUur xq.kg: (advance characters) ckjs o.kZu xjA 

(c) Describe the food chain and food web mentioning their interrelation. 5
 পারsিরক সmেক�র উেlখসহ খাদয্-শৃðল ও খাদয্-জাল বণ�না কর। 

 ikjLifjd-laidZ mYys[k xnSZ vkgkj J̀a[kyk (food chain) vfu [kk|-tky (food web) 
dks o.kZuk xjA 

(d) Write short notes on the following: 

(i) Soil Profile 
(ii) Keys for identifying plants. 

2 2
1 +2 2

1 =5

 সংিkp টীকা �লখঃ 
(i) মৃিtকা পিরেলখ (Soil Profile) 

(ii) উিdদ সনাkকরেণর সহািয়কা (Keys) 

 fVIi.kh xj% 

(i) Hkwfe-:ijs[kk (Soil Profile) 

(ii) mn~fHkn fpfUgr xuZ pkfgus *fd* (Keys) 

 

(e) Briefly explain the Carbon Cycle. 5

 কাব�ন চk-এর সংিkp িববরণ দাও। 

 dkjcu pØ (Carbon Cycle) ykbZ la{ksiek O;k[;k xjA 
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 GROUP-C / িবভাগ-গ / [k.M-x 

3. Answer any two questions from the following: 10×2 = 20

 িনmিলিখত �য-�কান dিট  pেűর উtর দাওঃ 

 fuEufyf[kr dquS nqbZoVk iz”ug:dk mÙkj ys[k% 

(a) What are the characteristics of Energy flow in the Eco-system? What are the 
differences between producer and decomposer? 

6+4=10

 ইেকািসেsম-এ শিk-pবােহর �বিশŶয্gিল উেlখ কর। উৎপাদক এবং িবেয়াজেকর পাথ�কয্ �লখ। 

 bdksflLVeek gqus mtkZ-cgkodks xq.kg: ys[kA izMÓqlj (producer) j fMdEikstj 
(decomposer) ek> fHkUurk NqVÓkÅA 

(b) Describe the morphological and anatomical adaptations found in Xerophytes. 
Name two halophytes. 

8+2=10

 জাñল উিdদ (Xerophytes)-এর rপগত (Morphological) এবং গঠনগত (Anatomical) 
অিভেযাজন বণ�না কর। dিট লবণাk উিdদ (Halophytes)-এর নাম �লখ। 

 e:fön (Xerophytes) ek gqus vkÑfrd (Morphological) vfu ,ukVksfedy vuqdwyu 
(Anatomical adaptation) ckjs ppkZ xjA nqbZoVk yo.k mfön~g:dks uke ys[kA 

(c) Characterize the family Solanaceae. Name two economically important plants of 
this family and their parts used. 

7+3=10

 �সালােনসী (Solanaceae)-�গােtর �বিশŶয্gিল উেlখ কর। এই �গােtর dিট অথ�ৈনিতক 
grtসmn উিdেদর নাম �লখ এবং তােদর বয্বহার উেlখ কর। 

 lksykuslh (Solanaceae) tkfrdks fo”ks’krkg: mYys[k xjA ;l tkfrdks dquS nqbZoVk 
vkfFkZd :iek xq#Roiw.kZ mfön~g: dks uke ys[k vfu fpuhg:dks mi;ksxh va”kg: dks 
ckjsek ys[kA 

(d) Differentiate between Artificial and Natural system of classification. What are 
the merits and demerits of Bentham and Hooker’s system of classification? 

6+4=10

 kিtম এবং pাkিতক �Ëণীিবনয্াস-এর পাথ�কয্ �লখ। �বnাম এবং hকার-এর �Ëণীিবনয্াস পdিতর gণ 
(merit) ও �দাষ (demerit) সmেক� �লখ। 

 oxhZdj.k Ñf=e (Artificial) vfu izkÑfrd (Natural) iz.kkyhek> ikFkZD; NqVÓkÅA 
Bentham vfu Hooker dks oxhZdj.k iz.kkyhdks xq.k vfu voxq.kg: ys[kA 

 
——×—— 

 


